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I x2e?dx

Let u=x°
-u' =-2x
u'=2
ul!l - O

(using tabular integration - thisis the preferred method to do integration)

I dv= %ezx (don't forget to add a negativesign)

I {I d\}dv = %ezx (Notethat the negativesign does not travel through)

(ol 2

Then multiply down diagonally, asfollows

12x

[ x*e™dx :xz%e2X %%ezx(— 2x)+ 2567 +C =%x2e2X —%xe2X +%e2X +C

Note: In thefuture we will defineJ' dv = F,(x), I F, (X)dx = F, (x) and so on. This makesthe pattern

(47)

(49)

of tabular integration asfollows: uF, (x) + (—u’)F,(X) + u''F;(x) + 0

I x® sin xdx

Let u=x°
u' =-3x2
u' =6x
u® =-6
u® =0

dv = sin xdx
F,(X) = —cosx
F,(x) =-sinx
F,(X) = cosx
F,(x) =sinx

DI x3sinxdx = —x3 cosx + 3x>sin X + 6xcosx —6sinx +C

Ixseczxdx

Let u=x
u=-1
u'=0

dv = sec® xdx
F,(x) = tanx
F,(x) = —InlcosX

0 J' xsec? xdx = xtan x + Injcosx| + C



